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Пед47о7 – клNGе64O D87уD4 DеDоD<8Dо64=8O 
о5D47о64=8O. 
«� деле о5уGе=8O 8 6оEп8т4=8O, 6о 6Eе< 
HколP=о< деле =8Gе7о =елP7O улуGH8тP, <8=уO 
7оло6у уG8телO» 

(К.Д. УH8=Eк89). 
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�K5оD '�К
ПDо5ле<K оD74=874F88 
уGе5=о7о пDоFеEE4:

�4 уDок4E д4етEO доEт4тоG=о 5олLHо9 о5Jе< 
8=DоD<4F88, котоD4O =е 6Eе7д4 пол=оEтLN 
6оEпD8=8<4етEO уG4I8<8EO

'Dо6е=L 6оEпD8Oт8O 8 уE6ое=8O уG4I8<8EO
D4кт8GеEко7о <4теD84л4 =4 уDоке 8 поEле е7о. 



����%&Е$%&��  
��$�������Я 
� ��'К� 
�'$%�О� 
О���%&�

Од=о 87 оE=о6=KE поло6е=89 Ко=FепF88 Ф�ОС –
DоD<8Dо64=8е у=86еDE4лL=KE уGе5=KE де9Eт689, 
о5еEпеG864NI8E у<е=8е уG8тLEO, EпоEо5=оEтL к 
E4<оD4768т8N 8 E4<оEо6еDHе=Eт6о64=8N. 

ПD4кт8GеEкое 6=едDе=8е Eт4=д4Dто6 6тоDо7о поколе=8O пок474л4 
=ео5Eод8<оEтL пеDеEтDо9к8 уG8телO 6о 66еде=88 уDок4.
Ш8Dоко7о 8EполL7о64=8е E8Eте<=о-деOтелL=о7о подEод4. ОEо5уN 
DолL 87D4ет <етодK, E по<оILN котоDKE 5удут DеH4тLEO Mт8 74д4G8. 



&9@4:« %9@9=AO= 5N8:9F»
Ц9?P:Ч9D9; >BA>D9FAB CBEF46?9AAO9 ;484K< EHBD@<DB64FP CBAOF<9 «%9@9=AO= 5N8:9F» < CD46<?4 
97B EBEF46?9A<O.
За8аG8 1. CB;A4>B@<FP B5GK4NM<IEO E CBAOF<9@ «5N8:9F», E  6<84@< 5N8:9F4 < CD46<?4@< 
EBEF46?9A<O E9@9=AB7B 5N8:9F4,  
2. 6B6?9K9A<9 GK4M<IEO 6 CD4>F<K9E>GN 89OF9?PABEFP K9D9; D9L9A<O F9EFB6, CDB5?9@AOI ;484A<= < 
H<A4AEB6OI ;484K; 
3. EB;84FP B5N9>F<6AGN BEAB6G 8?O D4;6<F<O A46O>B6  CB EBEF46?9A<N E9@9=AB7B 5N8:9F4 CGFё@ 
D9L9A<O >BA>D9FAB CBEF46?9AAOI ;484K.
4. A4GK<FP D45BF4FP 6 CDB7D4@@9 Microsoft Excel;
5. A4GK<FP D4J<BA4?PAB  EBEF46?OFP E9@9=AO= 5N8:9F, <ECB?P;GO CB?GK9AAO9 <AF97D<DB64AAO9 
;A4A<O;
6. G7?G5?9A<9 ;A4A<= GDB>4 ;4 EKёF @9F4CD98@9FAOI E6O;9=;
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2 Mт4п4:
теоDет8GеEк89 8 пD4кт8GеEк89.
&еоDет8GеEкуN G4EтL : 
1. Эт4п <от868Dо64=8O к уGе5=о9 
деOтелP=оEт8.(пDоE<отD 68деоDол8к4 по 
те<4т8ке =ео5Eод8<оEт8 EоEт46ле=8O 
Eе<е9=о7о 5Nд6ет4)
2. Эт4п поEт4=о6к8 пDо5ле<O, Fел8 уDок4 8 
EоEт46ле=8O пл4=4.
3. Эт4п откDOт8е =о6о7о 7=4=8O.(уG8телP 
о5IеEт6о7=4=8O E опоDо9 =4 пDе7е=т=4F8N
7=4ко<8т уGе=8ко6 E =о6O< <4теD84ло<, 
по=Oт8O<8).
ПD4кт8GеEк4O G4EтL :
-Qт4п пеD68G=о9 пDо6еDк8 8 74кDепле=8O 

7=4=89.
-<8=8 пDоект по EоEт46ле=8N 8 4=4л87у 
Eе<е9=о7о 5Nд6ет4 4 пDо7D4<<е 
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Эт4п <от868Dо64=8O к 
уGе5=о9
деOтелL=оEт8

Эт4п поEт4=о6к8 пDо5ле<K,
Fел8 уDок4 8 EоEт46ле=8O

пл4=4.

Эт4п откDKт8е 
=о6о7о 7=4=8O.

Эт4п пеD68G=о9 
пDо6еDк8
8 

74кDепле=8O 7=4=89.

пDо5ле<=о-

д84ло78GеEко9 
теE=оло788

Пед47о7о< Eо7д4етEO 
пDо5ле<=4O
E8ту4F8O,

уG4I8еEO EоEт46лONт 
пл4= де9Eт689 длO 
DеHе=8O пDо5ле<ы:

D45оту 6 7Dупп4E 
8л8 п4D4E E 
текEто< уGе5=8к4 8 
74д4=8O<8 87 
пеG4т=о9 D45оGе9 
тетD4д8. 6 
Eт4DH8E кл4EE4E -
пD8ё<ы теE=оло788 
D4768т8O 
кD8т8GеEко7о 
<ыHле=8O

И=теD4кт86=ые 
<етоды: д8EкуEE88, 

Eо7д4=8е 87Dо6о9 
E8ту4F88, =4п8E4=8е 
E8=к6е9=4.
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ПD8<е=е=8е D47=оо5D47=KE теE=оло789, DоD< 8 <етодо6 о5уGе=8O д4ет к46до<у уGе=8ку 
6о7<о6=оEтL E4<оDе4л874F88, Eо7д4ет уEло68O длO пол=оFе==о7о D4768т8O л8G=оEт8 8 
EпоEо5=оEт8 оD8е=т8Dо64тLEO 6 потоке EоF84лL=о9 8=DоD<4F88. �4DOду E Mт8< по76олOет 
68детL 8 т6оDGеEк8 DеH4тL 6о7=8к4NI8е пDо5ле<K, 4кт86=о пD8<е=OтL 6 687=8 полуGе==Kе 6 
Hколе 7=4=8O 8 пD8о5Dете==Kе у<е=8O, пDодукт86=о 6748<оде9Eт6о64тL E дDу78<8 лNдL<8 6 
пDоDеEE8о=4лL=о9 EDеDе 8 EоF8у<е 6 H8Dоко< E<KEле Mто7о по=Oт8O. 

 



УG8телP, е7о от=оHе=8е к уGе5=о<у 
пDоFеEEу, е7о т6оDGеEт6о 8 
пDоDеEE8о=4л87<, е7о 6ел4=8е 
D4EкDOтP EпоEо5=оEт8 к46до7о 
Dе5е=к4 – 6от Qто 6EU 8 еEтP 
7л46=O9 DеEуDE, 5е7 котоDо7о =о6Oе 
тDе5о64=8O Ф�ОС к оD74=874F88 
уGе5=о-6оEп8т4телP=о7о пDоFеEE4 6 
Hколе =е <о7ут EуIеEт6о64тP. 
М=о7о 7468E8т от 6ел4=8O 8 
E4D4ктеD4 уG8телO 8 от уDо6=O е7о 
пDоDеEE8о=4лP=о9 под7ото6к8.
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